Order #		6300030	5			Flight Da	tes		/01/22			2				-	Jpdate Date			06/01/22		
Syscod	e	0335				Agency		-	nart M								/ersion			2 Vs. 1		
System	Name	Cox Med	lia/Tulsa, OK			Advertise	r	Lu	ke Hol	land	For \$	Sena	ate				Show All Lines					
Market		Tulsa														[1	Total # of We	eks				
		_				Client Co	de	HC	DLLY							ī	Fotal				\$3,233.0	
AE		Alexande	er Fiske			Product (Code	OF	RDR								Commission				\$484.9	
Sales C	oordinator	Dakota N	/liles			Est Code		60	1606							1	Vet Total				\$2,748.0	
Office		Washing	ton			Product N	Name									1	Total Spots				2	
Phone		(301) 94	1-2620			Credit Sta	atus	Ca	sh in A	Adva	ance					/	Affiliate Split			100.0		
Status		Not acce	pted														Sold On			Cost Per Spot		
Survey		Nov21 D	MA Nielsen Pa	rallel Live+3		Primary Demo Adults 55+											GRP	-		GIMP	-	
All ratin	gs are bas	ed on DMA	populations			Makegood Policy Approval Required											CPP	-		СРМ	-	
Comme				. Applied MG offe															_			
Line	Net	I	Program	Start Date	Stop Date	Start Time	Stop Time	М	тw	Т	F	S	S S	RTG	IMP	Total Spots	Unit Cost	Total Cost	Spot Len	Line Comment		
1	FXNC	523605		5/30/22	6/5/22	05:00	09:00		X	X	(X	X	(X	-	-	0	\$250.00	\$0.00	30	05/31: -4x w/o 0	6/01	
2	FXNC	523605		5/30/22	6/5/22	06:00	15:00		X	X	(X	X	(X	-	-	0	\$156.00	\$0.00	30	05/31: -2x w/o 0	6/01	
3	FXNC	523605		5/30/22	6/5/22	09:00	15:00		X	X	(X	X	(X	-	-	0	\$156.00	\$0.00	30	05/31: -2x w/o 0	6/01	
4	FXNC	523605		5/30/22	6/5/22	15:00	19:00		X	X	(X	Х	(X	-	-	2	\$156.00	\$312.00	30			
5	FXNC	523605		5/30/22	6/5/22	19:00	24:00		Х	Х	(X	Х	(X	-	-	4	\$250.00	\$1,000.00	30			
6	FXNC	523605		5/30/22	6/5/22	05:00	09:00		Х	X	(X			-	-	4	\$113.00	\$452.00	30	05/31: +4x w/o (06/01	
7	FXNC	523605		5/30/22	6/5/22	06:00	15:00					X	(X	-	-	8	\$113.00	\$904.00	30	05/31: +8x w/o (06/01	
8	FXNC	523605		5/30/22	6/5/22	09:00	15:00		X	Х	(X			-	-	2	\$113.00	\$226.00	30	05/31: +2x w/o (06/01	
9	FXNC	523605		5/30/22	6/5/22	09:00	15:00		X	Х	(X			-	-	2	\$113.00	\$226.00	30	05/31: +2x w/o (06/01	
10	FXNC	523605		5/30/22	6/5/22	05:00	09:00		X	X	X			-	-	1	\$113.00	\$113.00	30	05/31: +1x w/o (06/01	
	Jı	ın 2022	Jul 2022	Aug 2022	Sep 202	2 Oct	2022	Nov	2022	2 [Dec	202	22 J	an 202	3 Fe	eb 2023	Mar 20	23 Apr	2023	May 2023	Total	
SPOT	S	23	23 0 0 0		0		0		0		(C		0 0		0	0 0		0	0	23	
AMT	¢	3,233.00	\$0.00	\$0.00	\$0.00	\$	0.00	\$0	.00		¢۵	.00		\$0.00		\$0.00	\$0.00	02	.00	\$0.00	\$3,233.00	

SYSTEM APP: ______ SALES ______ ACCT

Date Printed 06/01/22

63000305 | Tulsa | Cox Media/Tulsa, OK | 0335 |

2 SPO	-	1un 2022 6	Jul 2022	Aug 2022	Sep 202	2 001	0	NU	0)22	De	0	.022		0		0	0		0	0	6	
2	•	lun 2022	Jul 2022	Aug 2022	Sep 202		2022	NU	v 20)22	De	.u 2	022						-			TOLAI	
2	-				0 000	2 0 0	t 2022	No		122	De	c 2	022	Ja	an 2023	Fel	o 2023	Mar 20	23 Apr	2023	May 2023	Total	
	FXNC	523605		5/30/22	6/5/22	19:00	24:00			Х	Х	Х	х	Х	-	-	3	\$250.00	\$750.00	30			
1	FXNC	523605		5/30/22	6/5/22	15:00	19:00			Х	Х	Х	Х	Х	-	-	3	\$156.00	\$468.00	30			
Line	Net		Program	Start Date	Stop Date	Start Time	Stop Time	М	Т	W	Т	F	S	S	RTG	IMP	Total Spots	Unit Cost	Total Cost	Spot Len			
Comme	ents :	5/31 NEW	ORDER. PLEAS	E REVIEW AND	CONFIRM,	THANKS!																	
Il ratings are based on DMA populations						Makegoo	d Policy	A	Appro	oval F	Requi	ired					С	PP	-		CPM	-	
Survey			MA Nielsen Pa	rallel Live+3		Primary [_	Adults 55+ Approval Required									RP	-		GIMP	-	
tatus		Accepte	d														S	Sold On			Cost Per Spot		
Phone		(301) 94	1-2620			Credit Status Cash in Advance										A	ffiliate Split			100.0			
Office		Washing	jton			Product N	Name										Т	otal Spots					
	Coordinat	or Dakota I	Viles			Est Code	•	6	60160	06								et Total				\$1,035	
λE		Alexand	er Fiske			Product (ommission			\$1,210		
laikei		Tuisa			r	Client Co	de	- IF	HOLL	v							 	otal # 01 We	eks		\$1,218		
larket	n Name	Tulsa	dia/DirecTV- I+	Tulsa, OK		Advertiser Luke Holland For Senate											how All Line						
		2416		T I OV		Agency		_		t Mec								ersion			1 Vs. 1		
yscoc		6300030	15			Flight Da	tes	-			06/06/22							pdate Date			05/31/22		

SYSTEM APP: ______ SALES ______ ACCT

Date Printed 06/01/22

63000305 | Tulsa | Cox Media/DirecTV- I+ Tulsa, OK | 2416 |

							0.00												\$0		\$0.00	\$812.00	
SPOT	ſS	4	0	0	0		0		0			0			0		0	0		0	0	4	
	J	un 2022	Jul 2022	Aug 2022	Sep 202	2 Oct	2022	No	v 20)22	De	ec 2	022	Ja	in 2023	Feb	o 2023	Mar 202	23 Apr	2023	May 2023	Total	
1	FXNC	523605		5/30/22	6/5/22	15:00	24:00			Х	х	х	Х	Х	-	-	4	\$203.00	\$812.00	30			
Line	Net		Program	Start Date	Stop Date	Start Time	Stop Time	М	Т	W		F	S	S	RTG	IMP	Total Spots	Unit Cost	Total Cost	Spot Len	Line	Comment	
Comme	ents :	5/31 NEW	ORDER. PLEAS	E REVIEW AND	CONFIRM,	FHANKS!																	
All ratings are based on DMA populations						Makegood Policy Approval Required							C	PP	-		СРМ	-					
Survey			MA Nielsen Par	allel Live+3		Primary [A	Adults 55+									RP	-		GIMP	-	
Status		Accepte	d														s	old On			Cost Per Spot		
Phone		(301) 94	1-2620			Credit Status Cash in Advance										A	ffiliate Split			100.0			
Office		Washing	Iton			Product N	Vame										Т	otal Spots					
	Coordinato	_				Est Code		601606									et Total				\$690		
١E		Alexand	er Fiske			Product (ORDR									onmission			\$81		
Market		Tulsa			c	Client Co	do		HOLLY									otal # of We otal	eks				
,	Name	_	lia/DISH- I+ Tul	sa, OK	Ľ	Advertiser Luke Holland For Senate									Show All Lines								
Syscod		2445			I -	Agency		-										ersion			1 Vs. 1		
			-	H	Flight Da	100	06/01/22 - 06/06/22 Smart Media									pdate Date			05/31/22				

Date Printed 06/01/22

63000305 | Tulsa | Cox Media/DISH- I+ Tulsa, OK | 2445 |

Order #	63000305 Flight Dates		06/01/22 - 06/06/22	Update Date		06/01/22			
Syscode	9993	Agency	Smart Media	Version		2 Vs. 1			
System Name	Cox Media/Tulsa U-verse, OK	Advertiser	Luke Holland For Senate	Show All Lines					
Market	Tulsa		•	 Total # of Weeks	5	1			
	•	Client Code	HOLLY	Total		\$445.00			
AE	Alexander Fiske		ORDR	Commission		\$66.7			
Sales Coordinator	Dakota Miles	Est Code	601606	Net Total		\$378.25			
Office	Washington	Product Name		Total Spots					
Phone	(301) 941-2620	Credit Status	Cash in Advance	Affiliate Split		100.0			
Status	Not accepted			Sold On		Cost Per Spot			
Survey	Nov21 DMA Nielsen Parallel Live+3	Primary Demo	Adults 55+	GRP ·	-	GIMP	-		
All ratings are base	d on DMA populations	Makegood Policy	Approval Required	CPP ·	-	СРМ	-		
Comments :	5/01 Applied dropped spots. Applied MG offer. P	lease review and confirm. The	anks!	 I		•			

Line	Net	Program	Start Date	Stop Date	Start Time	Stop Time	М	т	W	Т	F	S	S	RTG	IMP	Total Spots	Unit Cost	Total Cost	Spot Len	Line Comment
1	FXNC	523605	5/30/22	6/5/22	05:00	09:00			Х	Х	Х	Х	Х	-	-	0	\$31.00	\$0.00	30	05/31: -7x w/o 06/01
2	FXNC	523605	5/30/22	6/5/22	06:00	15:00			Х	Х	Х	Х	Х	-	-	0	\$19.00	\$0.00	30	05/31: -3x w/o 06/01
3	FXNC	523605	5/30/22	6/5/22	15:00	19:00			Х	Х	Х	Х	Х	-	-	0	\$19.00	\$0.00	30	05/31: -3x w/o 06/01
4	FXNC	606619	6/6/22	6/12/22	15:00	19:00	Х							-	-	1	\$29.00	\$29.00	30	
5	FXNC	523605	5/30/22	6/5/22	19:00	24:00			Х	Х	Х	Х	Х	-	-	3	\$31.00	\$93.00	30	
6	FXNC	523605	5/30/22	6/5/22	05:00	09:00			Х	Х	Х			-	-	7	\$19.00	\$133.00	30	05/31: +7x w/o 06/01
7	FXNC	523605	5/30/22	6/5/22	06:00	15:00						Х	Х	-	-	10	\$19.00	\$190.00	30	05/31: +10x w/o 06/01
,	· · · · · ·	un 2022 Jul 2022 Au	- 0000			2022					- 2						Mar 20	22 4		May 2022 Total

	Jun 2022	Jul 2022	Aug 2022	Sep 2022	Oct 2022	Nov 2022	Dec 2022	Jan 2023	Feb 2023	Mar 2023	Apr 2023	May 2023	Total
SPOTS	21	0	0	0	0	0	0	0	0	0	0	0	21
АМТ	\$445.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$445.00

SYSTEM APP: ______ SALES _____ ACCT

Date Printed 06/01/22

63000305 | Tulsa | Cox Media/Tulsa U-verse, OK | 9993 |